
Séquence de Nombres Linéaires (D)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 20 120 170 220Différence commune:2. 15 25 45 55 65Différence commune:3. 6 11 41Différence commune:4. -308 -158 142Différence commune:5. -229 -129 -29 271 371 471 571Différence commune:6. 22 32 42 52 72 82 92Différence commune:7. 32 37 42 47 52 62 72Différence commune:8. 103 253 403 478 553Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (D) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. -5 20 45 70 95 120 145 170 195 220Différence commune: 252. 5 15 25 35 45 55 65 75 85 95Différence commune: 103. 1 6 11 16 21 26 31 36 41 46Différence commune: 54. -308 -233 -158 -83 -8 67 142 217 292 367Différence commune: 755. -329 -229 -129 -29 71 171 271 371 471 571Différence commune: 1006. 2 12 22 32 42 52 62 72 82 92Différence commune: 107. 27 32 37 42 47 52 57 62 67 72Différence commune: 58. -122 -47 28 103 178 253 328 403 478 553Différence commune: 75Mathslibres.com


